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Model mismatch

-2 0

What will Bayesian linear regression do?



Quiz

Given a (wrong) linear assumption, which explanations are
typical of the posterior distribution?

D All of the above

E None of the above

Z Not sure



‘Underfitting’

4 . 0 2 4

Posterior very certain despite blatant misfit. Peaked around least bad option.



[vt/
W’
gre W
W\B

rradon
- fk famhﬁm

)
Face
= B (Bbet

) -
() bservats”

I
“ ‘ :Bl>,u-c' G:r’!
1 ' ;
= W
P(iz )
C;) (:(j

p
REN

f B) l/z

i) s

) 0 bher

"t fergw.
Z) D 2



Wkai'no’( b o

xb—u/(x, 6) Mﬁ(z}’z-

/! flx, =

| Dot fnow
Pobad & cort, C
Pl)= (V3 c=1 WI¥
V3 e&= 2 8l8
,/3 =% wi W
Observos fove 1 °
P(x,=Blc) =\ "2 c=(
1 c=2
Tnfereace - o
P(c | %,=B) o p(x =8le)PE)
X ya c=[
[ el
O penat V3 c.-;-j

2/2 =D



le
&;@ew

P O
Co
o

[ -gigd D side’ (00 - $uef
B2 Duce Dee

Rl k> gt an &

Ke



= — BJ
[ !

F b ¢ z C

.~ (
—

- [1("8)

W ‘ XFW X

’___-'7’-—

( L

3
$,2,3
¢

C

ﬂ:if)
(:ff;

X,

[ ¢, )

- (

Z F(?(z

V3
-:,’;::_

S
res.

L
W

for

Preds(:érﬂ‘

Miiiisa

w
% >,—
D { c.ju/de
)ﬁ

l/

('5

F

"
WLe o
| D, PW;'
mﬁ%@
X, g
l‘;‘-/f z)
(o :
o
:: N(j/_.




